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Answers for 6.1
For use with pages 360-363

6.1
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35.
37.

Skill Practice

means: n and p, extremes:
m and g

- Sample answer: 6:8,9:12,

12:16; multiply both numbers in
the ratio by the same number.
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4:1 -2 5. 600:1
264 7 2
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18cm 9 13, 320cm 8
16 cm’ 8 " 1000 cm’ 25
7 5 6
11 15. 5 16. 3
4
3 18. 70 ft, 7 ft
8, 28 20. 30°, 50°, 100°
20°, 70°, 90°
55°, 60°, 65°
4 24. 6 25. 42
1 27. 3 28. 13
3 30. 1 31. 6
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10 33. 16 34. 8
5V2 36. 2V/30
The unit conversion should be
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57.
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8. 24 teeth
60.
. about 189 hits
62.

61

63.

1
5:4 R 40.9
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42. 7 43.
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5V3
112.5°, 67.5°

45. *6

Obtuse; since the angles are
supplementary, x + 4x = 180.
Find x = 36, so the measure of
the interior angle is 144°.

Lo o 4
Yes; the ratio is yx ad o

9 50. 6.5 51. 5

L 53. 72 1n., 60 in.
1

I —x°

x=15

A=

45, 30 56. 5:7

Problem Solving

18 ft, 15 ft, 270 ft%; 270 tiles;
$534.60

59.9c,18¢c,72¢

about 420 mm

a. 1027:1000
b. about 185 Red-tailed hawks
c. about 1003 Red-tailed hawks

All three ratios reduce to 4: 3.
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Qe
64. about 0.852 mi/h; ebewt-3d=t=rmirh

65. 600 Canadian dollars

66. a. Sample answer:

x| 1 211 3
¥| 36|18 | 12
b. Sample:
y ] %
\\
ﬂ
4
el 1o

c. No; the graph of the equation
1s not a strajght line.

gt S ohiin
67.E—d,b¢0, #O,b bd

%-bd,ad=cb,ad=bc

Run 6.02 W/h

68W—

2 +2xy+y2
am 4

dxy = x* + 2xy + ?
0=x2—2xpy +?

0=(r—yy
O=x—y
y=x

69. 12 70. 3 71. 4

6.1 Mixed Review

] 3
2 73. 13 78—
75. —5 76. =\V7  77. +7
78. *6 79. y=3x—1

80.y = —4x + 24
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